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[[=tiva K £ NET HDCP TOTAL ouUT I N OUT NET [[=¥iva K 4 NET HDCP TOTAL ouT I N OUT NET

B B =igash 65 25 90 ( 44 46 ) 315 B B FEBx 66 15 81 (40 41 ) 325
260 R BE 71 22 93 (49 44 ) 38.0 260 BPAR B— 66 12 78 (41 37 ) 350
M BAEE L 72 14 86 (43 43 ) 36.0 M BAR E— 68 18 86 ( M4 45 ) 320
AL FREE B— 72 15 87 ( 44 43 ) 36.5 AT R EfT 68 28 96 ( 50 46 ) 36.0
501 M- 72 21 93 (48 45 ) 375 561 % EE 69 11 80 (40 40 ) 345
66 HH FX 74 11 85 ( 45 40 ) 39.5 6 R A 70 25 95 (49 46 ) 365
Th  HE # 76 30 106 (51 55 ) 36.0 Th KEEX 70 16 86 (45 41 ) 370
8fr ATH IEBR 76 30 106 ( 53 53 ) 38.0 8L BAR BETF 70 13 83 ( 44 39 ) 375
9 BB AE 76 28 104 (b2 52 ) 38.0 9z EH BE 71 24 95 (47 48 ) 350
1062 MR & 76 2 78 (40 38 ) 39.0 106 &8k BE 71 19 90 (45 45 ) 355
14 FHE 76 17 93 (48 45 ) 39.5 1M =EEBEE 72 9 81 (39 42 ) 345
1260 K &= 77 16 93 (45 48 ) 37.0 1261 &5 A% 72 1 83 (4 42 ) 355
1367 UK EER 77 15 92 (48 44 ) 405 130 HE # 72 18 90 (45 45 ) 36.0
1461 #WN BT 77 13 90 ( 49 41 ) 425 1461 ®II FH3E 72 17 89 ( 45 44 ) 365
1661 REEFE 78 22 100 (47 53 ) 36.0 1561 #2i8 Z3A 72 19 91 (46 45 ) 365
201 =H BE— 80 13 93 ( 44 49 ) 375 2006 fk1R AR 73 19 92 (45 47 ) 355
30t EMHE= 82 12 94 (51 43 ) 45.0 30 FEE E= 75 14 89 ( 44 45 ) 370
40467 NH #8 87 25 112 (63 49 ) 505 4061 WU BE 77 19 96 ( 47 49 ) 3756
5061 ZHh X 79 " 90 ( 52 38 ) 465
60hL Lk & 81 19 100 (55 45 ) 455
706 HH EEE 86 11 97 ( 51 46 ) 455
BBE ¥ F= 89 23 112 (54 58 ) 42.5 BBE )il 5& 92 15 107 (54 53 ) 465
BGE BA H— 78 ( 41 37 ) Par 72 J—AL—F RO—TFL—k

Bi(E) 6606 vyard 71.3 128

BH(R) 6237 yard 69.5 123

Bi(&£) 5892 vyard 68.1 119

BrE(%) 5281  vyard 64.9 114

(%) 5,281 yard 70.1 123

ZE(R) 4,878  yard 67.8 119




